
ljlQo lz=g= vr{ lzif{s
lalgof]lht 
/sd

? 1000 df
s}lkmot

29311 kmlg{r/ tyf lkmr;{ 1000
29411 ;jf/L ;fwg vl/b 600
29511 ld:g/L cf}hf/ 1000
29221 ejg tyf ^x/f lgdf{)f tyf #]/af* 7500
29712 ;km\^jo/ lgdf{)f tyf vl/b 300

uxgfg If]q lasfz sfo{qmd 1000
pu|tf/f a]b laBf>d 100
dlxnf d'lQm ;]kmxfp; 100
gjb'uf{ dGbL/ 300
b'uf{ dGbL/ u'jf*L 100
di^f eujtL wfld{s ag lgdf{)f 500
g]kfn /]*qm; /*'jf ;xof]u 50
g]kfn af/ P;f]l;p;g **]Nw'/f ejg ;xof]u 100
ledbQ axd'lv SofDk; 50
v]ns'b /Ëzfnf 500
lep^fj/ tyf k'/fgf a:t'x?sf] ;+u|fxno 500
cfsfz] kfgL ;+sng kf]v/L 500
lakb Aoa:yfg 800
lakGg czxfo ;xof]u 500

cleofg k|aw{gfTds sfo{qmd- aftfa/)f d}qL_ 
n}lËs lx+;f d'Qm, k')f{ ;/;kmfO{, afnd}qL_

500

of]u sfo{qmd 150
;'s'Dafl; tyf hghftL 110
dlxnf nlIft sfo{qmd 1000
afnaflnsf sfo{qmd 200
blnt sfo{qmd 1000
o'jf l;k lasfz sfo{qmd 500
o'jf tyf v]ns'b sfo{qmd 300
sNof)f sf]if 162

gjb'uf{ uf+pkflnsfsf] k'lhut tkm{sf] cf=j=2075÷2076 sf] ah]^ lalgof]hg
k'lh+ut tkm{sf]
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:yfO{ ag g;{/L k|t]s jf*{ 500
Pn=Pd=lh= 800
;Dk'/s sf]if 4000

lzIff 5525
zfvf tkm{ 
hDdf

:jf:Yo 11377 29402
s[lif{ 6250
kz' 6250
GofoLs ;ldlt 590
;DefAotf cWoog 1000
k'lhut dd{t ;Def/ 1500
k'lhut e}kl/ 2516
ckfu+ eO{ c;St ePsf 200
;xsf/L k|a4{g 200
a*f cGt{utsf of]hgf 20000
ufpkflnsf ;*s 21000
vfg]kfgL 7000
l;rfO{ 5000
blnt ejg a*d 200
1 g+= j*f sfof{no ejg 1500
ljwfno ejg 2 j^f qmdfut 1200

hDdf lalgof]lht /sd 116030


